
������-)&�$VLD2FHDQLD�)LQDO�4XDOLI\LQJ
�-XQLRU�)HG�&XS��*������*URXS�$

���$SU�����������30�
LWIMXQLRUV�WRXUQDPHQWVRIWZDUH�FRP�,7)�7HDP�(YHQW�3ODQQHU�,7)�5HIHUHH

$8675$/,$�>���@ 7XH������$0 �����

,1',$ 7XH������$0 �����

1(:�=($/$1' ���� 7XH������$0�

-$3$1�>���@ ���� 7XH������$0�

6WDQGLQJV 3O� :RQ 'UZ /VW 3WV 5XEEHUV 6HWV 6� *DPHV *�
$8675$/,$ � � � � � � � � � � � ������ �� � �� �������

-$3$1 � � � � � � � � � � � ����� �� � �� �������

,1',$ � � � � � � � � � � � ����� �� � �� �������

1(:�=($/$1' � � � � � � � � � � � ���� �� � �� �������

� � � �

������-)&�$VLD2FHDQLD�)LQDO�4XDOLI\LQJ
�-XQLRU�)HG�&XS��*������*URXS�%

���$SU�����������30�
LWIMXQLRUV�WRXUQDPHQWVRIWZDUH�FRP�,7)�7HDP�(YHQW�3ODQQHU�,7)�5HIHUHH

7+$,/$1'�>���@ 7XH������$0 �����

/(%$121 7XH������$0 �����

0$/$<6,$ ���� 7XH������$0�

&+,1(6(�7$,3(,�>���@ ���� 7XH������$0�

6WDQGLQJV 3O� :RQ 'UZ /VW 3WV 5XEEHUV 6HWV 6� *DPHV *�
&+,1(6(�7$,3(, � � � � � � � � � � � ������ �� � � �������

7+$,/$1' � � � � � � � � � � � ������ �� � �� �������

0$/$<6,$ � � � � � � � � � � � ���� �� � �� �������

/(%$121 � � � � � � � � � � � ���� � � �� ������

� � � �



������-)&�$VLD2FHDQLD�)LQDO�4XDOLI\LQJ
�-XQLRU�)HG�&XS��*������*URXS�&

���$SU�����������30�
LWIMXQLRUV�WRXUQDPHQWVRIWZDUH�FRP�,7)�7HDP�(YHQW�3ODQQHU�,7)�5HIHUHH

,1'21(6,$�>���@ 7XH������$0 �����

+21*�.21* 7XH������$0 �����

3$&,),&�2&($1,$ ���� 7XH������$0�

&+,1$�>���@ ���� 7XH������$0�

6WDQGLQJV 3O� :RQ 'UZ /VW 3WV 5XEEHUV 6HWV 6� *DPHV *�
&+,1$ � � � � � � � � � � � ������ �� � �� �������

,1'21(6,$ � � � � � � � � � � � ����� �� � �� �������

3$&,),&�2&($1,$ � � � � � � � � � � � ����� �� � �� �������

+21*�.21* � � � � � � � � � � � ���� �� � �� �������

� � � �

������-)&�$VLD2FHDQLD�)LQDO�4XDOLI\LQJ
�-XQLRU�)HG�&XS��*������*URXS�'

���$SU�����������30�
LWIMXQLRUV�WRXUQDPHQWVRIWZDUH�FRP�,7)�7HDP�(YHQW�3ODQQHU�,7)�5HIHUHH

.25($�>���@ 7XH������$0 �����

65,�/$1.$ 7XH������$0 �����

8=%(.,67$1 ���� 7XH������$0�

.$=$.+67$1�>���@ ���� 7XH������$0�

6WDQGLQJV 3O� :RQ 'UZ /VW 3WV 5XEEHUV 6HWV 6� *DPHV *�
.25($ � � � � � � � � � � � ������ �� � �� �������

.$=$.+67$1 � � � � � � � � � � � ����� �� � �� �������

65,�/$1.$ � � � � � � � � � � � ����� �� � �� �������

8=%(.,67$1 � � � � � � � � � � � ���� �� � �� �������

� � � �


